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1 |EBEE A 4-4 O 7-2 O 16-0 7 | 27| 6 | 21
2 |[BiEEf#t A 4-4 O 8-0 O 6-1 7 18 5 13
4 | KPRtk x 2-7 x 0-8 X 0-6 0 2 21 | -19
3 | KBRUY—F X 0-16 X 1-6 O 6-0 3 7 22 | -15
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o O 1-0 O 1-0 O 3-0
2 | KERERKR—Y 5 70 < 22 S 20 15| 18| 2 | 16
X 0-1 X 0-3 X 1-2
4 | KMRiRsE < 07 <16 < 07 0 2 | 26 | -24
_ X 0-1 O 3-0 O 7-1
1 | KERANATH O a2 O o1 5 30 15| 23| 5 | 18
A x 0-3 O 2-1 x 1-7 B
3 | KBRITSE < o4 o 70 < 03 6 [ 10| 18 8
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4 |RENTESET X 2-3 A 2-2 X 2-4 O 5-0 4 | 11| 9 2
2 |EHEER O 3-2 X 3-5 O 2-1 O 50 9 | 13| 8 5
1 | KBRiEE(R) A 2-2 O 5-3 O 3-2 O 5-0 10 | 15 7 8
3 | KEFHR O 4-2 X 1-2 x 2-3 O 5-0 6 | 12 | 7 5
5 |KERE#HE x 0-5 x 0-5 x 0-5 x 0-5 0 0 | 20 | -20
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4 | KBk x 0-7 O 7-0 X 3-4 x 0-7 3 110 18 | -8
3 | KRIRITZ O 7-0 x 1-5 X 1-6 O 10-3 6 19 | 14| 5
5 | KIRESHR x 0-7 O 5-1 X 0-6 x 0-5 3 5|19 | -14
1 |REERE O 4-3 O 6-1 O 6-0 x 1-2 9 | 17| 6 | 11
2 | KRR O 7-0 X 3-10 O 5-0 O 2-1 9 [ 17 | 11 6
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